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EFETHETRAOR
FRERERAOGIEAZEHZED) %*D3¢3ﬁ 18 EE'E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 362 400 762
EARI1TH 1,032 1,165 1,276 2,441
mAET2TH 1,210 1,085 1418 2,503
A R ET 2274 2,335 2,564 4,899
BERT1TH 548 548 597 1,145
B ERT2TH 412 419 465 884
B ERI3TH 319 357 336 693
B ERTATH 523 481 519 1,000
B EBRTSTH 823 896 904 1,800
I ER6TH 368 404 424 828
HiF = HT 550 602 651 1,253
45 KHT 469 530 567 1,097
HHT 1,015 1,126 1,252 2,378
BEHT 51 55 57 112
A K BT 627 734 743 1,477
7 HT 437 452 459 911
RICET 469 505 534 1,039
FORHET 203 198 232 430
RFHT 212 214 246 460
KHET 367 344 377 721
KET1TH 235 246 287 533
XKET3TH 291 348 328 676
XETATH 889 833 1,031 1,864
fit] LLI BT 2414 2,799 2,891 5,690
JE LT 982 1,115 1,231 2,346
EHERT2TH 304 440 433 873
EHERISTH 438 530 551 1,081
EHERT4TH 386 453 479 932
EHERSTH 333 391 461 852
EHERT6TH 216 288 270 558
EAERET7TH 167 253 259 512
=Y:i 331 338 394 732
8 [F T 1,567 1,435 1,667 3,102
=i ET 508 550 623 1,173
2l 3t BT 480 595 569 1,164
N =15 102 117 123 240
+HEFRT A 640 650 713 1,363
L EFHTER 857 754 862 1,616
L HAET 1,974 2,179 2,263 4,442
LFH¥ABT1TH 74 123 122 245
LH¥\ET2TH 159 159 180 339




BT 4 HH 5 £ i
LFEI3TH 153 148 178 326
L¥AET4 T B 167 182 203 385
LFEISTH 216 271 297 568
I == HT 204 213 237 450
JOSFET1TH 566 537 561 1,098
JNsFET2T H 546 527 563 1,090
JNSFEIST H 418 439 418 857
M=rET4T H 1,110 1,124 1,141 2,265
I S5k T 589 612 664 1,276
I=F5di) 225 214 252 466
Jt B BT 30 38 38 76
Jt ET 412 361 343 704
fHZaE T 817 936 998 1,934
FHRHET 80 87 96 183
1 2 FF T 331 371 402 773
BEFE1TH 90 114 128 242
BEFE2TH 287 331 341 672
T EHT 129 143 140 283
/N BB T 3,073 3,140 3,343 6,483
1R T 257 291 310 601
YEZF HT 751 742 811 1,553
EXBI1TH 263 246 268 514
=/ LLIHT 221 162 129 291
Hh ek HT 25 25 5 30
T A EHET 10 13 10 23
THHEE1TH 732 689 721 1410
THHEE2TH 526 569 567 1,136
THHEESTH 817 836 958 1,794
TEHE1TH 191 191 185 376
TEHRI2TH 816 764 883 1,647
TEHRISTH 166 169 186 355
TEHRI4ATH 92 96 111 207
TEHRISTH 221 240 246 486
T HAET 574 612 648 1,260
TET1TH 360 355 376 731
THET2 T H 462 442 491 933
TH¥BISTH 201 199 230 429
TET4TH 155 154 185 339
TH¥BISTH 151 172 190 362
HTAEHET 23 22 9 31
T 192 198 192 390
#8)11 BT 44 44 54 98
KT HT 301 323 351 674
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BT 4 HH 5 £ i

7B KHT 1,683 1,709 1,870 3,579
FSIED 271 326 321 647
XLAT1TH 849 786 933 1,719
X#ILET2TH 318 347 367 714
X#ILET3TH 151 158 167 325
1 [ BT 48 64 77 141
hHET1TH 366 395 420 815
hHET2TH 465 490 536 1,026
hHBEI3TH 433 512 515 1,027
aiEld:) 257 244 289 533
th 2 JEHT 224 213 241 454
ch T 124 125 161 286
TR AHT 764 878 883 1,761
At FAET 881 890 1,035 1,925
75 K ERET 792 983 1,022 2,005
75 2 [N HET 1,652 1,855 1,972 3,827
JAHT 800 782 876 1,658
$FHET1TH 533 465 533 998
$FHET2T H 402 394 452 846
¥FHETST B 200 205 227 432
T 164 217 222 439
HET1 T B 381 480 504 984
HET2 T B 349 369 401 770
HET3 T B 358 400 443 843
HET4 T B 118 112 140 252
J\ & T 987 1,077 1,127 2,204
J\ EHHT 161 202 199 401
T 4 BT 252 290 325 615
T A HT 1,842 1,896 2,048 3,944
THB1TH 24 22 21 43
T4HB2TH 1,458 1,382 1,347 2,729
T4HBI3TH 188 167 167 334
T4RBI4TH 369 308 377 685
T4RB5TH 951 681 963 1,644
T4HBI6TH 602 591 639 1,230
THRI7TH 354 385 420 805
T4HBISTH 391 417 432 849
THRBOTH 393 464 511 975
T4WB13TH 311 353 397 750
AR NBHT 1,974 1,724 1,992 3,716
HARRHET 1,358 1,255 1,237 2,492
HARRK/ERET 291 374 388 762
F AR JEHT 166 171 179 350
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HEZ HH 5 = 5
- WNEL] 132 121 132 253
FH AR hHT 200 226 263 489
FHARAKHET 441 471 501 972
& ARl 323 348 387 735
HARE)IIHT 294 274 306 580
=N ] 106 116 134 250
FH AR JTHT 105 99 113 212
EARERHE 670 582 678 1,260
B K BRHET 385 397 400 797
Edsa] 888 901 1,017 1,918
BIERT1TH 761 732 760 1,492
BEFET2 T H 594 598 676 1,274
BEFETST B 351 412 416 828
AFTET1TH 414 376 421 797
AIFFRT2T B 598 612 668 1,280
AIFFATI3T B 608 699 755 1,454
A HT 182 209 196 405
B LH 224 290 309 599
NEL] 797 781 845 1,626
ERL 743 928 921 1,849
= HHE 1,737 1,935 2,029 3,964
HEXHRET1TH 588 647 681 1,328
HLIRET2TH 513 602 657 1,259
HLAREISTH 297 376 375 751
P fx T 320 369 400 769
mERI1TH 1,148 1,126 1,271 2,397
mERI2TH 827 953 1,059 2,012
FA T 1,337 1,394 1,579 2,973
= RITET 528 506 551 1,057
= AHT 342 275 340 615
AR#HT 10 8 4 12
=) 507 580 528 1,108
SHET1TH 711 632 796 1,428
S HET2TH 403 446 468 914
aHEI3TH 850 743 905 1,648
S HET4TH 768 648 850 1,498
E& T 1 1 0 1
J\BRET1TH 206 265 264 529
J\BRET2T B 213 227 229 456
J\BRBT3TH 245 293 306 599
1Tl 291 431 414 845
FHeEIBRT1 T H 163 193 206 399
FHREIBRT2TH 303 437 465 902
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HEZ HH 5 £ 5
FIEIBISTH 106 175 171 346
EOER1TH 38 60 55 115
EOER2TH 0 0 0 0
FENOERITH 24 21 3 24

HwEEt 88,497 | 92,423 | 100,097 | 192,520
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